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PopmMyrnbl COKpalLeHHOro YMHOXeHUA
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UG*207 = 9 4 1ot + 42

049°= (50-1)2= 2500 — 100 + 1 = 240
0 (x-7)(x+7) = ,2 _ 49

U 49731= (50.1)(50+1)= 2500 — 1 = 2499
0 8a’-27 = (2a-3)(4a2 + 6a - 9)




(x-2)%-(x+2)°=-16
1 cnocoo: 2 cnocoo:
Pemenue: Pemenue:
Pdx+d-X—dx-4=-16 | @b =(@@-b)at+b)
Podxt4-Pdx-4=-16 | T =C&-2)

Ax_dx=-16+4-4 b= (x +2)°
((e—2) — (x + 2)((x — 2)Hx+2))= -16

-8x =-16

x—2—-x-2)x—2+x+2)=-16
x=2

-4-2x=-16

-8x=-16

x=2
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[lpoBepoyHas padoTa

1. BbinonHute ymHoXeHue, ucnonb3osaB PCY:
A) a’—9
B) 25b% + 10b + 1
B) (2a-b)(4a*+2ab+b?)

2. [lpeobpa3zyute B MHOro4YsieH CTaHA4apTHOro
BUAaA:
(3a-2)(3a+2)+(2a-3)?

3. Pewunte ypaBHeHuUe:
(3x+1)°+(4x-3)(4x+3)=5x(5x-2)




Kaptuna pycckoro xynoxHuka Hadajia XX B.
bornanoBa-benbckoro « YCTHbIU CUET»

102 4+ 112 4+ 122 + 132 + 142
365

100+(10+1)2+(1042)2+(10+3)2+(1044)2 _
365

100 + (100 + 20 + 1) + (100 + 40 + 4) + (100 + 60 + 9) +
365

+(100+80+16) 500+200+30 730 __ 2
365 2 365 365
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JlomaniHee 3agaHue:
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